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Shift- 1st

QID : 1 - Which psychological crisis occurs during early adulthood, that is, from 18 to 40 years?

ARIRG 62Q1Q JeIn AL, ( er @ ¥o od 1Yl 6)) 60 629G JRIA A AINTR AAQY! 6RGITI ?

Options:

e | @CHOTWOTrI. IN

2Qask @RI I@l@1g

2) Identity vs. Role Confusion

Feg PIfie 9RIA FRQ QFRI 9986Q 90 68 Q&9
3) Generativity vs. Stagnation

geRIde daIQ @RIF ZINE 6RIRAEQ!

4) Industry vs. Inferiority

QAREMIGN Q@RIF @1RA4E!

Correct Answer: 1) Intimacy vs. Isolation
AQAET PRIF IR

Candidate Answer: 1) Intimacy vs. Isolation
2QAsF @RI IRI@1g

QID : 2 - Success in the stage of Erikson's theory of psychosocial development will lead to
the virtue of hope.

IRREAIRTA AIRTR FRI6 0Q AQAIER ___ 6QICIR 68 ATRG! P66l Q4G § 2SR AICAIR 20G 6RREQ
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Options:

1) first
QaIe

2) second
go1a

3) third
al=yla}

4) fourth
ogel

Correct Answer: 1) first
geln

Candidate Answer: 1) first
dele

Techofworld.In

QID : 3 - Erik Erikson has proposed that personality develops in a predetermined order through
stages of psychosocial development, from infancy to adulthood.

\0e YAREAIR 9919 69aRF 64 66619 0IQ 210A @R ARIR® 629 AdIg 1Y @ FRIE 9@ Jr8 PRIRE Qe
2RI G AAIRe G AIRER 2Qgl AIRIAER 6RIRCIN

Options:

1) four
4

2) five
5

3) six

6

4) eight
8

Correct Answer: 4) eight
8

Candidate Answer: 4) eight
8

QID:4- are the basic building blocks of such cognitive models, and enable us to
form a mental representation of the world.

goe 62087 64108 AFRI A 67TPe S0R AUIRIR , Ia° 2! AR AIRAGRM & IR AINTR
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Options:

1) Replicas
qo9o

2) Schemas
QIR

3) Egos

e elal

4) Personas
Q4geie

Correct Answer: 2) Schemas
Rlalat (]

Candidate Answer: 4) Personas
il

QID : 5 - Jean Piaget viewed intellectual growth as a process of to the world.

o0 JuIees i Balglg QIR QR 980 9@ Q 994 Q6d 6eg2lem

Options:

1) adaptation
(203 [Sal[al
2) assimilation

Techofworld.In

aQIegIe
4) challenge
Qlemeh

Correct Answer: 1) adaptation
QIELIRR

Candidate Answer: 1) adaptation
QJedIea

QID : 6 - According to Piaget's Theory of Cognitive Development, _________, is using an existing
schema to deal with a new object or situation.

RUeEeFR QIR ARI8 07 2galea 6268 1@ @2l 0G0 @1 @ga Agee 624 IRl AHRRIQ
PAILIGAR @ QIQ AR FeasNa
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Options:

1) accommodation
aglegie

2) assimilation
eIFeas

3) adaptation
QAdedIee

4) amelioration
Q@0 aRle

Correct Answer: 2) assimilation
AGNRE!

Candidate Answer: 1) accommodation

“ Techofworld.In

QID : 7 - What is Piaget's 4th stage of Cognitive Development known as?

Qeerewa 08 adiiaa 698 dal6 Q64 AL @l
Options:

1) Sensorimotor stage

degloe FId edidie

2) Pre-operational stage
RIJIRIA0! 2I0e 6291 4Ia (AR

3) Formal operational stage
RISV FYI® 2IQF 6291Q 64IAR
4) Concrete operational stage
Qdelse RIdiRIa 6291 QI

Correct Answer: 3) Formal operational stage
RIJIRIRC QYIS 20a 629I1Q 6QIAR

Candidate Answer: 3) Formal operational stage
IR0 QYR 2Ia 6291Q 6QIAIR

QID : 8 - The genetic inheritance received by every individual at the time of conception is called:

GIslag 62 AAY Q48 QAARININ gL 68 606 BR 610 Q& g6 AIg *RRIP 019 QLIAN
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Options:

1) Maturity
aalafsla]

2) Heredity
Q°GIgRFRG!

3) Segregation
QIR

4) Environment
dAQA6E!

Correct Answer: 2) Heredity
Q°Glgefies!

Candidate Answer: 3) Segregation

Techofworld.In

QID : 9 - According to Erikson, which stage can help build or undermine self-confidence?

RRdea @2l 29d6a 606 62IAIR 219¢I199 6108 @RAIER Q! oY @QIER ?
Options:

1) Stage 5 - Identity vs. Confusion

6QIAIR-8 ARRL, @RIF QL

2) Stage 4 - Industry vs. Inferiority

64IdIR-8 Q46 Q@RIF] @IRFIRYSI

3) Stage 3 - Initiative vs. Guilt

6Q1AIR-9 JIQARGI @QIF1 6Q1E

4) Stage 2 - Autonomy vs. Shame and Doubt
6QIAIR-9 FALalIAR @RI RGYl G A6

Correct Answer: 2) Stage 4 - Industry vs. Inferiority
€4IdIR-¥ QY6 QRIF QIREIRYSI

Candidate Answer: 4) Stage 2 - Autonomy vs. Shame and Doubt
6dIdIRN-9 LI°EILR QRIF MYl G L6LL

QID : 10 - According to Piaget is a stored form of the pattern of behavior which includes
looking at a menu, ordering food, eating it and paying the bill.

delerema el 2galsa 610 A2ejQl IR QIQYIA 6FR1A IR QA 6ACRER @ 6717 RIF 626
AGIRRLOIR HIQR! I&° GlRYQ FJRY 6091 29E |
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Options:

1) Stage
6dldla

2) schema
QRRENR

3) cognition
6RO

4) intelligence
lalalatak]

Correct Answer: 2) schema
QQQEIR|

Candidate Answer: 3) cognition

Techofworld.In

QID : 11 - According to the The National Curriculum Framework 2005, handicap is a

@191, AI0YPEA 6FAGIE 9008 2gAIEQ RV Y@
Options:

1) tool to spread diversity

QAREI 9AIe @A HAE Y@ QI

2) good excuse to exclude unwanted students
ool 819 FlRE 2moll Al la] dIRl 9@ QR QLIRI
3) curse to humanity

AIRSRRIE Y@ 2Q6IQ

4) social construct

AR QA 606l IRYRI IR Qd

Correct Answer: 4) social construct
delie @Ial 66l ikl Na Qd

Candidate Answer: 1) tool to spread diversity
Q6o 9aIGle @A HAE Y@ AP

QID : 12 - Inclusiveness in education is concerned with embracing children with: 1. physical disability
2. economic disadvantages 3. urban background 4. learning disabilities

SRIQ 2AQGR08 QIR 2I6F 626dRIA @ FgAING IR 6RQIUIR RGR: 1. SINRLNIER 2A¢ §ig 2.21Igeqsd
AREAQ 8ig 3.92a g 2189 &g 4.8¢Q1 AR 286 21 &g
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Options:

1) 1 and 4 only
6RQm € \{Q@° ¥

2) 2,3 and 4 only
6RQm 9, 11 9Q° ¥
3) 1,2 and 4 only
eaQm €,99Q° ¥
4) 1,3 and 4 only
eaaQm 2.9, Je° ¥

Correct Answer: 3) 1,2 and 4 only
6Rem €,99]° ¥

Candidate Answer: 4) 1,3 and 4 only

Techofworld.In

QID:13- involves understanding how all the pieces of an entire concept fit together.

ang QAIQIR gog 6°R 9@ gl dIQél ( Concept ) @AQ 6@ AN G121 98QI6Q 2IAQ QIR 99
Options:

1) Meaningful learning
22ige aal

2) Rote learning

6QIQl &l

3) Social learning
AR &l

4) Imitative learning
QL& Gl

Correct Answer: 1) Meaningful learning

2214 dial

Candidate Answer: 3) Social learning

AR Sl

QID:14- is all about providing effective learning opportunities to all learners.

6208 ang dNIhg gRIRsInt 8Nl QIR Q89! |
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Options:

1) Exclusion

gReR

2) Inclusion

RARER

3) Social learning

aride dal

4) Observational learning
AQUIRARR SRl

Correct Answer: 2) Inclusion
QRQeR

Candidate Answer: 2) Inclusion

| Techofworld.In

QID : 15 - What was the name of the report of the Yashpal Committee submitted in 19937

1993 6Q QI6IM 6212l IR AR AEAITR FIA @6l 2
Options:

1) Learning to Earn
6QRGIR RRRI AR &l

2) Learning without Burden
6QIE ARI Gl

3) Education to All

ange &l

4) A school for All

AAge AR SR,

Correct Answer: 2) Learning without Burden
6QI¢ ORI Sl

Candidate Answer: 3) Education to All
aqge &gl

QID : 16 - According to the
lens of deeply held assumptions.

learners interpret the meaning of their experiences through a

2RAILY, ORIRIER R QYR 2AQAlR AIFER SR 6AfIRe 2RReIR 2 QBalIg |
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Options:

1) attribution theory

21594aR 261

2) experiential learning

2geQINe &l

3) transformative learning theory
AReeReIa S8, aeig

4) self-determination theory
216 - f¢la GaIg

Correct Answer: 3) transformative learning theory
AReaRRIe SN, deig

Candidate Answer: 4) self-determination theory

- Techofworld:.In

QID : 17 - A teacher using a number of assistive and adaptive devices such as Braille equipments,
adapted science kits, hearing aids, communication aids, mobility aids is an example of

@66 SRR A9I0R 1Q° QYR AIRREIA Y@ A6l Q1RIQ RRQI 6AJR 691 AURRE, IFIEYR FRIP BSQ,
Qe Q, A1AERAR 1Y , 6AIIME 1Y 6268 QA QARIERE |

Options:

1) Affirmative action
AQaIAe @Iy

2) Social learning
AN@e &8l

3) Inclusive education
QrQdQ &ial

4) Discovery learning
20y e sial

Correct Answer: 3) Inclusive education
RQAQ Sial

Candidate Answer: 3) Inclusive education
m@@@ aal

QID:18-1In students interact with the world by exploring and manipulating objects,
wrestling with questions and controversies, or performing experiments.

62161d AIAGN QIS @8 Y9° FAINYEMES @8, 9§ Ie° @910 AR J0QL10I @, AGIANRNE A 6Q
2IgFlI6R Q¢ 4@ 6AICIEAIS @0 |
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Options:

1) expertise theory
QeeaR ARIQ

2) Social learning

ainIEe dal

3) discovery learning
28gIQ Sl

4) transformative learning
dRRERRIR Gl

Correct Answer: 3) discovery learning
g &l

Candidate Answer: 2) Social learning

Techofworld.In

QID:19- designates the process by which people interpret situations, events, objects, or
discourses, in the light of their previous knowledge and experience.

Qe HIQ NQ° ATKO! ARINER geal 58y eGaI AIRIgIal 6RIRAIE ARFR, acsl, @Y, 6a16d
QBQIeR T2 |

Options:

1) Inclusive education
QrQaq &l

2) Discovery learning
28gIQ &l

3) Meaning making
2¢l G2 2R

4) Social learning
AIRS Sl

Correct Answer: 3) Meaning making
22l 21 @G

Candidate Answer: 1) Inclusive education
ARQdQ aal

QID : 20 - Who developed the theory of multiple intelignences?

YRR 6QIRR0IA BR1 N Ba8o Rgem ?
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Options:

1) Daniel Goleman
QIR 6GIRANIR

2) E.L. Thorndike
RIR. 62

3) Howard Gardner
621416 FIRY

4) Guy Woodruff
AN QR QP

Correct Answer: 3) Howard Gardner
601416 FIRR

Candidate Answer: 3) Howard Gardner

Techofworld.In

QID:21-In learners take responsibility of their own learning by promoting self-
learning through discussion of ideas with their group members.

60, @RI LRQIFING IR F0IQ AIEMR FIIALR YO° 5iNIQ 60ILIBE @R 8xIgh 6adire
faie Qg Fee erRef |

Options:

1) collaborative learning
aeedien &l

2) problem-based learning
aqay- 2RIEE dial

3) concept mapping
EQUIREN BREl

4) project-based learning
Jaq - ARIGE dal

Correct Answer: 1) collaborative learning
Qa@eQIe Sial

Candidate Answer: 2) problem-based learning
AAQYI- RIS S8l

QID:22- is a tool used by the teacher to continuously monitor student progress in
a non threatening, supportive environment by involving regular descriptive feedback, and by providing
a chance for the student to reflect on the performance, take advice and improve upon it.

6268 665\ Qa@aE, AIRIg RIRAIRE J6iDg Bl 6xl6ld aaayl, Ao AReEER FRga
Q6L AQUIR RAAIQ FA@ 192IQ ¥R, AIL 2AQHY 62aR Faga FERINe FQ AYI] 6091 1e° Jadrea
JoTRe 6291UIR RIOF J6QIS 6041, AUFIE 6091 ¥e° 121 QJ6a RIF @8I |
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Options:

1) Summative assessment
J6AERQ AN

2) Formative assessment
FAER R

3) Dignostic assessment
QIR6A R APRR

4) Prognostic assessment
6Q1691§R 21eRR

Correct Answer: 2) Formative assessment
IR ARRe

Candidate Answer: 2) Formative assessment

| Techofworld.In

QID : 23 - A learning process where the teacher transmits facts and assumes the students as passive
receptors of knowledge is called:

665N 881 9@, 6ACI0I6AR AR G211 gRIR RRAIR \Ye° URRAY 64 RIBAIER 6208] RIRQ AIdQ A6AQR, 121§
@6 QQIAN :

Options:

1) process-centred approach
qRA-6ae AR0

2) subject-centred approach
AQERQ-6RLR A80

3) learner-centred approach
dalel-6a0e A8%

4) teacher-centred approach
SNe-60oe 480

Correct Answer: 4) teacher-centred approach
JRR-6000 Q80

Candidate Answer: 3) learner-centred approach
ARIg-6R0e Q80

QID : 24 - Who gave the concept of 'conditions of learning'?

D)

fRIQ §6'a 0@ @I 60R2jem ?
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Options:

1) Robert Gagne

6Q1QC QlIEIR

2) Benjamin Bloom
6R8IAR A

3) David Krathwohl

QI0Q Q622N

4) Elizabeth Jane Simpson
IM@I6Q8 606 MR

Correct Answer: 1) Robert Gagne
60196 QlIeIR

Candidate Answer: 2) Benjamin Bloom

6o@ifin g
Techofworld.ln

QID:25- refers to whether an assessment instrument gives the same results each
time it is used in the same setting with the same type of subjects.

28] 6RQE, AFIR 6a6°6a AFIR Qg 4 402 ARRe AUNAs AR AREIF BN @ QD |
Options:

1) Viability
QLIT4Q!

2) Reliability
[Slalale]

3) Validity

6B

4) Transferability
ARRAREIRO!

Correct Answer: 2) Reliability
(Bla{ale]

Candidate Answer: 3) Validity
EQAG!

QID : 26 - Who proposed the Three Modes of Representation to explain the way in which information
or knowledge are stored and encoded in memory?

640G 66i16Q gOR! B¢ KIP QRO 28 9e° go6R IRERIR 62IRR CI2I Q18! @RS diel gR8dgIdea 06RI1E
6618 9IQ @9 6aR26m ?
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Options:

1) Jean Piaget
@ qaIeag

2) Erik Erikson
0Q 90Q ag

3) Jerome Bruner
6R60IQ 96RIQ

4) Lev Vygotsky
MR AREGITY

Correct Answer: 3) Jerome Bruner
6@6RIR Q6RIQ

Candidate Answer: 1) Jean Piaget

~ Techofworld.In

QID : 27 - In Erik Erikson's Stages of Psychosocial Development, is a basic virtue for
ages from 40 years to 65 years.

I0Q EgR & ARIAINIRG YRR 6AIAINER, 6268 40 @ 60 9d @4 IRl 661N 67TRe
QeQa |

Options:

1) purpose
Qe

2) care

aQ

3) love
egel

4) wisdom
]

Correct Answer: 2) care
a9

Candidate Answer: 4) wisdom
]

QID:28-In approach, concrete situations come first followed by abstract concepts.

Q8068 210QQ ARSI AR FEE ARGE Qel6r 216a |
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Options:

1) subject-centred
Qg-6a0a

2) teacher-centred
dRe-6h0e

3) discovery-learning
ARga -6ial

4) learner-centred
aRIg-6a0

Correct Answer: 4) learner-centred
axel-ca0e

Candidate Answer: 4) learner-centred

Techofworld.ln

QID:29- is a model of classification of thinking into multilevels in
increasing order of complexities.

6208 FERCIA ARG PF6R B ARG YARIA JOa AEINAER IR FA6ER |

Options:

1) Hess' Cognitive Rigor Matrix

629 @G6Q Qealq AITY

2) Bloom's taxonomy

ﬁﬂ\ @ C'16gIeR e

3) Webb's depth of knowledge

64Q & RIQQ CINIQE!

4) Robert Gagne's Conditions of Learning
6QIeE aleRe diNIa 9@

Correct Answer: 2) Bloom's taxonomy
%ﬂ\ & Clegleq el

Candidate Answer: 2) Bloom's taxonomy
(‘iﬂ & ClegleIe

QID : 30 - Which one of these can help learners foresee what is expected from them as a result of
teaching-learning process and can negotiate with the teacher regarding it?

FRIQIR - EgQl gRaIa JR8IF gad NAQ FNQ 6a6lE RIZNE JLIgAIR @RRIER AIRINY @8 1&° QI AF96Q
e a2 2908 @8R ?
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Options:

1) Formative assessment
TATR AR

2) Assessment strategies
ARG 6RlERgee

3) Learning objective

G8I Qae

4) Course curriculum
eald @Qigime

Correct Answer: 3) Learning objective
&8I Qsael

Candidate Answer: 1) Formative assessment

TACQ 2R
QID:31- Gyl 650 Qi %@9 erag @QGISG} e __ QYQQIQ) 168l Q?‘t@@_@@ Q(‘;’GIGQI
Options:

1) 9g-QIGISIE Qd, ARG

2) QIAIGE Q4, F606N QI

3) QE-QIEIEE QQ, Fea41 QA
4) QVIGIE QQ, FIQRIEI

Correct Answer: 2) Q@66 Qd, 86061 Q@

Candidate Answer: 2) Q860 Qd, 86061 QUal

QID : 32 - DeAlIg FRIQ 696 @G, Gigg O HRR ATROIA QIR TAIE CARAIN?
Options:

1) @0l 0 Q!
2) AQQI 98!
3) 6mYQ! VB!
4) §EQ -

Correct Answer: 2) d89| Q&0

Candidate Answer: 3) 6mgjQl QAL

QID : 33 - g9@ 6I0R A8Ig VLR F6Cllg AUQ 6a6l @geIT OR?
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Options:
1) "a0Q! AFIA6R 98I 2RIHY Q6d Y@ 99& 0RRIN R, 609 AATER 2I6F QO Q@ 2Ias @ "
2) "SRRl 2RQITY g6 Y@ J9al 0RRIA1 JaLl, 696 AAER ZI6F QOR J9@ 2ILQs KQ”

3) "Giglel 2RQITY Q6Q IR J9@ S0 IRLY, 604 AAYER 2i6F PR J9@ 2128 /"
4) "QIal 2PQITY Q6Q IR J9@ S0RRIA 9RKl, 606 AAER 26 QOR J9@ LA /Q”

Correct Answer: 4) "Qi8l 25014 Q60 @ JQA CIORRINT JFLl, 606 AFAEA 2I6F §OR 098 21208 6Q”

Candidate Answer: 2) "Gi¢iiael 2RQIJ1 Q60 @ 9Q@ S0RRIAT JFLY, 606 AANER 2i6Fl 9oR JQE 2IeRs

9@"
[echofworld.In
QID : 34 - ( ) QIFIR 6RAR AREQER ZRJAI°E AFEA 661N FRTQ 216dIQ T
cRIRAIRAIN|
Options:

1) §6Q016061R, 40gR, REq

2) 6J6R6661R, J0QR, J6A)6a8IQ

3) 6060661617, QG 4R

4) JeaaIeadR, AIREY, 99K

Correct Answer: 3) 6J6R6661Q, IR, AOQR

Candidate Answer: 2) 606@6661Q, J0gQ, J6QUEQER

QID : 35 - giFIQ ARIRRI diel AFIMEE FUQ 6R6 6RIEIR QIQLIQ FAUTN QIE?
Options:

1) om°

2) Bqec1ga

3) OQeceR

4) 2ECRAGARSA

Correct Answer: 4) 20GRTARRE

Candidate Answer: 1) G@°

QID:36-
GRIR2IN|

Ae0° (6168 Y@ §C-01aR 2I6JIQ 266, 6AGE6R 26 AINsQ A%E ARY 2IPg 66
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Options:

1) 90gQ

2) R81QQ

3) P6216270R

4) adaQ

Correct Answer: 1) GogQ

Candidate Answer: 3) @6262RTQ

Techofworld.In

QID : 37 - AIRdq FIm1IFE G;I@@GE] aI6AG 6L, @612

Options:

1) SQRIF EQURIQRINT AV 2IINER P4 JRTRQ ARIIFR

2) ARAI0TAINE QIQl AF18I @°dIPYRD 609D 2RINER AYIge gosiea IR

3) &gl @R6! 6AZIA IRRARD ARIRER FQYINT JRERR ARIISS
4) AAIe Y§IeR1 AR A9 F4IZh 6@R2Q AFIR IR ARRYEY IR AN QAR IBE QAR A8 RIIFH AR

Correct Answer: 4) QIR gglom1 dIal A9 8041 60a8Ql IR JRIQ QARGEY IR FIRE Qaa 986 @A
*8 RISe @GQ

Candidate Answer: 4) Qi@ g¢lom disl 49 @@41eN 60aQl AFIR JRI RAAGRY I8 FIPe Qe 98¢
2RRl 81 JRISE Q9!

QID : 38 - D6F)Ig FIQ 6RGIE AIRYQ ARYIFE QYRR 2A6AEEAE] Q IR AR 26672

Options:

1) 92| ARG 2GR S1A5Y ARl

2) GaeAer SAIIFAIRG UIREINR HIR 6291 AGR6E 6a9R "dAI IR SRVIQIR” (teaching to the test) @Q2IP
3) AgQIQ AeRIE QG 62IRAIN

4) aaealg aAg Saf

Correct Answer: 4) QJ6QIQ A7 Gef

Candidate Answer: 2) &Ra¢I6R SMIZNFIRG UQSILR WP 609 AAREE 6RR "I IR FRNAR”
(teaching to the test) @QeIg

QID : 39 -

gRde @89, GRIQINA R Q8 266
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Options:

1) QA6 AQE

2) QORI 61§

3) 2R

4) 9ER6R Q0

Correct Answer: 2) QIoQI 61§

Candidate Answer: 3) 29Q
[ echofworld.In
QID : 40 - JRYIFRER P6FlIQ FAIQ 6RAG, FIEMIQ Q 6l QEREY?
Options:
1) JRiIEe Q2180 APRea AUIAING FEIRQ
2) QYIhaiea QT 2QdRIe @8 6AFIRE g6 QUL @QQ!
3) 6aFIREA YAC-ARYIAR AN Fa80 atR!
4) QYAIRE 6008l 690

Correct Answer: 2) SQ4gNAI® QF 2QA9IR @8 64AIRE 96 QAR @89

Candidate Answer: 1) JRUIFRA C2IFEI ARBEQ FAYIENAING FEIRR

QID : 41 - OR QIa4 6meig; FlIe AITER Q6|
Options:

1) FlIg A6l QU6Q Q6@
2) qlg I8l Ve Q6L
3) FIg AIfieQ Q62

4) CI1 Q18] QIR Q6@

Correct Answer: 3) ¢l QI8i6Q Q6@

Candidate Answer: 4) g di& QIQI Q6L

QID : 42 - 6] QIR Alel VAL I° B6A, AQ 6REIY | GAR \1e° (] 609IR6R FEAR geliery 60¢/RIg AIRR
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Options:

1) Q8- 4O 9Q° ¢ TR g4lI6FIE] 62¢[QIq AIRSR, TR, UG- 60IR6A|

2) a0- 4O 9Q° ¢ 69¢/QIg AIRYR, 6, IF-607IRER FEaR gel6riell

3) QUL GOR IQ° ¢, 6L, UR-699IR6Q FEOM G4ll6r1E] 6961Ql AR AIRYR

4) GEQ- 4O \I9° (] TOM 6Q¢/QI9 AIRYR, F6L, AR-607IR6Q g4llers] |

Correct Answer: 3) Qa4 4O IQ° ¢, F6ML, AQ-60QIR6R TR 4ll6r1s] 6Q6/Q! AIR! AIRR

Candidate Answer: 3) Q@4 JaQ \IQ° ¢, F62A AQ-60QIRER TR g4lIsIE, 6Q6QI ARl AIRYR|

QID : 43 - H¢J6Q Q2UIRSR! AINIQ IRIR 6MEI | 92 §F ARl Q6F1 @61 6KIRRI FQS ?

Options:

s Techofworld.In

2) Ao Qe
3) 4§QIoR QIeY
4) 990QeR QIR

Correct Answer: 3) J¢QIO@ Q@Y

Candidate Answer: 3) 4gQI0® Qa4

QID : 44 - B¢6Q JQIR PAIAIRRR! QIR @RI JAIR FAIKIREIR! FaG AUQ OF QIR1 00F 8aQ| 64 6106Q AIER
604 60 QYIQR 62RIQ BI6Y|

Options:

1) 64 61196Q RI6E AIRI 62 P66 GHIGR 6RAI G168 |

2) 64 611668 FIEE ARG P66 BUIGR 621G SI6Q |

3) 6Q 6166 RI6E AR 64 68 Q661 P1IRR 621 G162 |
4) 6Q GIPEQ RIEE ARY2 6Q P66 UGR 6RAIP Ol6E

Correct Answer: 2) 64 611061 Q160 @IQE 066 QHIQQA 62QIY Qleg |

Candidate Answer: 2) 6d Gl106Q QI60 RIQE @661 A1IQQ 6291q QI6% |

QID : 45 - QI2Ig GF2I QAVIQ IARE 6N QRIAN ?
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Options:
1) 661Q1QI2 FRI
2) geaQ AR

3) PR 6AILR 6ARIAT
4) QIRIE QUL

Correct Answer: 3) TR1Q 67120 6ARIAD

Candidate Answer: 3) TR1Q 67190 62RIA0

QID : 46 - 6RG Q¥ AYRYA FARIPAUIRG, IFFRIA 6¢162Q ARIBMIRL, PIAER AIFG 62/I ?

Options:
1) 1949

2) 1944
3) 1947

S Techofworld.l

Correct Answer: 1) 1949

Candidate Answer: 4) 1950

QID : 47 - 19556Q 66lId1RIEl ARIPE TR JRYIAR RIFA @61 ?
Options:

1) 49 Qa6

2) KI91A10 ZRGIQ

3) Q86 YRIERM g
4) 9. &. d QoI BH2IER LAENR 6mall Al 6TFIEMTY

Correct Answer: 3) Q@64 96071 JogIQ

Candidate Answer: 3) Q1904 YRI62¢11 JQGIRQ

QID : 48 - 636! 2IFl QIQS1A AARYIA AIFRFAIRE QI QAIRTR SINIF 661TE AA6R 2ARIRE R ?
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Options:

1) 66Q01

2) 82 71161 210 §é)
3) QIQ gAaT

4) 60666 67168Q

Correct Answer: 2) 22 €161 210 g6

Candidate Answer: 2) 22 €161 210 gé]

QID : 49 - Qerlig FIQ 66lITTRIE FRIPE 6RQ QUAYIA JARER Iflea JALED K197 A2 ACe1e ?
Options:

emes  Techofworld.In
2) AT AFIR 9Q° QR e

3) 9@ 2Q \e° AIF AR

4) 22RR 9Q° AeR!

Correct Answer: 3) Q@ d2Q \e° AIG AGIR

Candidate Answer: 2) @I A6IR 9Q° 2500

QID : 50 - G601 FIRIPF PIREEIRER @6l QYI6H| 6RIRE ?

Options:

1) 9o F00Q Q@ G°QIarQ O @1Ug FRIGQ LEQIEE 3R JeYIeER |

2) GP¢I RORALQ APYHR AR, 6ACOERER EVRNE SIPIN16R, BYEI AR JPIIQYERR, QY6 AT AR JR6R
AR 621N |

3) U@ QFIQ 60606R6R @8 dF AeRa §06a M, 2Q08 Y9I ALILR NQ° BRINe A°JI6R FAIRR 62! |
4) g9 AIRIA 6

Correct Answer: 1) ¢Q1 70aQ Q7 3°RIARQ ORI 9109 FPIJQ RO SR JeYILER |

Candidate Answer: 1) Qa1 ¢100Q QR 2°2IAnQ SRR Q10g FRIYR A AR JCYIRER |
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QID : 51 - 9¢] Q€] GIQ41E ARG | GRYPEITY ARQ \IQ° B¢ AFYLRA QAR F2g|

616 @d ¢f IR 6qURER TP6 62IR2M, 6760 PIRREIRIER 02 0RTE 62QIg 62ml| 6A0IR S92 0RQIQ 616T
dif R2RIQ 67166 ARIRE GIF6R QEIBRI | 671l 6104 OIQ 2RE QAR K66 6RIGH AARIL, AQYIER NQ° FIFRHIRIR
SIQY6R 2J6m | JISEAIRRER 64 2R KRV A2 QRE 26 JRfEm| A @1RE I8 @8R @66l AIee HUFE QLR
6Q5QIQ 2ICEIM, 6 CIF G2, IPQ¢] B¢ 6QIAIR TFLYRI | PIQAIER PR Fe AR AR A6Q 6Q
6606Q6R 2GSRI 917 FE@ QIRGT dip! AQERER 66lITN 2ig)l Qglgem | F6r QIGRsIQIg 216 6AIGISIER H2ig]
6RMI IQ° 2IFQ I8 Q1§ REQ FIQ 665N 26 ARER | 66 LI AR AL, AT 26ERER, AR LIEER G
6QQIG REM IQ° IRIJER ABIEREM | 6@ 6QIIPI QITEM CIEF 26AA FIRFQ QKRG FELT, SR |

FIRYI°EI6Q @196 621R2el ‘2aLIK, §6'a 218 @'6?

Options:

e ] echofworld.In
3) QQé 499
4) OO 2R

Correct Answer: 4) Q010 2Q4|

Candidate Answer: 2) 264 QA9 2eg|

QID : 52 - g¢| ¢ SIR4rEl 2RIRS | SIR4PETY ARG IQ° B AEYIRa aaa Fag|

616 od ¢ IR 6qUQea dG6 caIRgR, 67166 FIGASIRIEa QR GAEE 62919 62MI1 6A0IER 6127 9QIR 616d
ge #2IQ 67166 ARINE GIF6a QEliciAl | 6611 6141 OIQ ARE QAR R66! 6aI6H 2214 2egiea Ie° PIgasinIa
¢IQY6R ZJ6m | AIPBERRRER 66 2R HRA AL QAF 24 AIRZER| A 19T AIQ da F68 AIRe BAfe QIR6R
6QGRIQ 2IGEIM, 6N GIF g2, I9ae] B¢ 6QIdIR TFLMI| PIgarler AR A6 g AR d6a 6a
660696R 2GRNl 1Y RER QIRRT AR AERER 661N 28]l Aglen | F6R PIGRBIRIG 26l 6AIRIEIER Pag]
6RMI I9° 2IFQ I8 Q1F KR FIR 6ITN 28 AIRER | 68 LI AHS AL, ALY AEERER, AR LR G
6QQI6 R6M \IQ° ILIER ABYEIEM | 6 6QIII AITEM Gl 26AA AIRFR 2QIRG! FEYT, 2 |

6REIR REIR FIDE QI9QA SIRIER ORTE 6aagjen?

Options:

1) 62 QIQABIRI F19RQ 2P 609IF FIFY6m

2) 60 QIRE 294G 2J6m

3) 62 @ AFIFS QFRIEIQ 24 6AIGIIAIRE A2 Q2IRIA @ARIY CIFEEM
4) 6a Q@ QIQQ Q1% QIR

Correct Answer: 2) 64 Q194 244 26m

Candidate Answer: 2) 64 Q1961 294 26

JoinUs-‘ > f



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

QID : 53 - g¢| A¢] G146l ARIRE | SIR4PEITY ARY IQ° B AGYPaa aaa d2ig|

6o @d ] Y@ 6qIRER JG6 6RIRYM, 6AI6E QIQATIRIER Q8 0GTE 62919 62mI1 690I6Q CI2R FRIR 6al81T
IR R2JRIQ 67166 ARIRE GIF6R QEITRI | 671 6104 OIQ 2RE QAR K66 6AIGH 2RI, AQYIER IQ° FIFRHIRIR
6lQ46Q Jem | JISEAIRRER 64 2R KAV AL QAT 2 AIQLER| Qg Y1QF QI8 9FQ @66l AR B QIR
6QCRIQ 2RI, 6PN PIF G2, IPae] Bgl 6QIAIR AR | PIFACIER PR AE AR AR A6R 6
6160696 2RIl QG QEIR AIRRT AIR AQEQER 661N 28]l Qgelsm | FeR QIGASIRIR 28 6AIRISEa Felgl
6RMI 99° 2IFQ Y@ 17 KR FIR 6615 28 ARER | 64 LI A6ER AL, ATIQ 26RR6R, AR LUEER IS
6446 @om NQ° NRIJ66L QEjeem | 64 Q1IN QPR QI 26A-I ARNQ ARG ﬁélﬂ g |

@9 0Afoed QIQAEIRIER MIRGR ARE 66l @QRIg 2I6a ?

Options:

ews | @chofworld.In

3) @661 Q@ Q4R
4) 6RGIR REI@

Correct Answer: 2) @661 62/¢' aml

Candidate Answer: 2) @66 621" Oml

QID : 54 - g¢| A7) SRl ARG | SIRPEE'Y ARG IQ° Y] AEYPRa AaR Fag|

616 @ ¢ U@ 6URER TG 62IRYR, 67166 IGABIRIEa Of SRTE 629Ig 62MI| 6A0IER fIeR FGYIR 6xled
e 92JeIQ 6c166 ARINE BIF6a QElisial | 661 §1Q41 OIQ ARG QREQ W66l 616N 2C214 2Rgiea I9° QIgasinIa
¢IQY6R g6 | QIPBEARNAER 64 ARY HRA AL QAT 28 AIRYER | A 18F AIQ 98Q F68 QIR FYFE QIR6R
6QCRIQ 2IGEIM, 6PN GIF G2, I9ae] B¢ 6QIdIR YR | VIGArIER AR A6 QL AR d6a 60
660696R 2IEIRI 1Q REIR QIRRT AIR AQERER 6CIN 28l Qgjem | F6R QIQRSIRIG 26 6AICIEIER Beg
62MI 99° 2IFQ I8 Q17 RER AIR 601N 28 AIRER | 6@ LI A6ER AAL, AN 26ARER, AR LUFER IS
60018 PEM IQ° IQIAEA QBIERER | 69 6QRIPI AITER CIF 26AAI FIRRQ ZIQSHRG! FElQ, 21 |

e 626/Q1 A6 TMIT QAR ARYQ 28] ARRER PRR RS ZIR6a RIRGE 6au ERGQ Q1921
RAARARL ?

Options:

1) 2I98¢IQ

2) QA1

3) 6Ig

4) 2199

Correct Answer: 4) 21¢4

Candidate Answer: 2) QOW1Q
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—

QID : 55 - g¢) A¢] 61Q41°6 ARIGE | IMIETY AQQ \I° BF] JFPPRa AaQ BaQ |

616 @d ¢ Y@ 6qURER TGO 6IREM, 67160 FIFAGIRIER Q8 FRTE 62917 62/ 610I6R 6127 FRAIR 6RI6IT
dIf RAQIQ 67IEE ARIQE GISER QSIGIRI 661l 1KY OIQ 206 QAER FE6E! 6RIGH 2RI, 2QGIER NIe° PIRASIRIR
¢lIQ46Q 2Jem | JIOSEQAINRER 6 QY RRA A QAT 2g) AIRCeR | g Q19 1A @dA K66l QIRe FOFC QIR6R
6061 2Igem), 6AIPY PIF G2, Iaar RE) 6QIdI TgeRI | QIgarler A6 He QAL AIRel A68 64
60606Q6R 2RI Q4G RE1Q QIRRT IR AQERER 66T 28 Qgelem | F6r IQASIRIQ 2l 6AICISIER F2g]
6aMI IQ° 2IFQ Y@ 1§ REQ FIQ 6615\ 2g) AREM | 6Q LI 26RQ AR, ATIQ ARAER, F6 2106Q I8
6dQI6 @6M \IQ° IRIJER QEEREM | 64 6RRIPY QIFEM OIEF 26N QIRRA 2IQGIRE! Gl ZRIQ |

QIR G1QYI°61 RIRI AIER 6RLES ?

Options:

e lechofworld.In

2) 0IgagIfNIQ AARRPE! ATER
3) Qi Q104 Qe
4) QIRRQ Q0 6 AU

Correct Answer: 1) Q4§Q 09 692 QQ6Q

Candidate Answer: 4) QIRQQ 909 §6 QU6

QID : 56 - ¢6Q JRIP FAIRYF| @IVITY ALY 99° BF] JFPPaa e B2 |

6RRGN R 2IAM ¢ 64 0If 69R 64 @ FIEM 6AIRE UA BIg TR @Rl @l 1 60169Q SIml |

o' J6Q 64 @R Taml JRUIER 2JQl AIIQ FEER FEER IR AIAG 606 PINCIRI AR 62129 QY 6291g,
PRI 2IGEa 64 6Q¢MI, AR AQ2UER Q1Y M - 6AgHR AN AR A Bgeem, ¢ AR, 62 B 6REIM (&
Q6mRR | -

acag 2IgR HQERI @TRI AR ¢ O94 Ml Al JRIABAIR AN @R A0, 64F6 A10@ 19Qe]

0 @P0I6Q @'6 QEIIRG ?

Options:

1) QQ1GN 6llQY 661RQ1 ANAER @¢)l FHE A2 Qe R @RI 696R @ITYQ 6&m1I
2) @G \I9° 96RRAGN FIER ] o6&

3) 66115\ O6QR ARIQ 6QIQ SRR
4) 06QRG5N 6dIR §IRRIQ QAIL, S5l

Correct Answer: 1) 15N 694 661IG@Q1 AACEAQ AE)l AT AR QI RAY, AR 6967 VITIQ 661R1

Candidate Answer: 3) 665N 96QR ARIQ 6Q1 HIQG
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QID : 57 - Hg6R QIR @QIKIRYR! @A0ITE AeQ 19 HF 4gQeea aaq @2y |

P6eRGEN 0rg 2IAMI ¢ 6 OIf FRYR 64 @ FIERI CAIRGN 2R O TIR ARl 8l Ol 60169R CIM!|

o' J6Q 64 Rlaa Jaml gRUIER 20! JIAQ FEER FEER Alp AUAY 666 SR AL 69197 Y 6991Y,
RERR 2IgEa 64 6QEMI, AR AQ26R @4g Ml - 699ER QANE FIR AR Fgelem, ¢ ARR, 6a 61 6Q8IFN €16
LemamI| -

QIeI0Q 2Igm SR QB! AR ¢Q 098 2l 7l IRITPAIER,AXIPA 9RQ A0ER, 64F6 A10Q A9QaY

I8 @00 PR A1 RIXR gRURAS QRIKIRR?

== Techofworld.In

1) RIQE ARIPEQIQ A QUER ALR6R DL 6LIRANRR |
2) 108 P6RRAIER 92| QU6 ERAIRER |

3) QIQ8 YQIQ AAQAIE AR |

4) QIQ8 P6eR JIIQ PIRQ ARAIRR |

Correct Answer: 4) @IQ4 96QR AIAQ QIRQ AIRAIRL |

Candidate Answer: 4) QIQ4l 96QR QIAQ PR ARAIQR|

QID : 58 - H¢6Q 9OIR PAUAIRZRI AIOITY ALY 16° A7 JEYRNN AaR B2g |

P6eRGEN 0ng 2IAMI ¢ 60 0If QYR 64 @ FIERI CAIRGN R Bl TIR A @8I 01 60169R SR |

O 60 64 AIRQ Jaml gRIER 2Je! AIAQ KPR KPR KIR AUAY 606 SIMERl ARIQ 6IRE AIYI 66QIg,
RERR 2GR 64 6RFMI, AIRI AL Y SR - 6AGER QUNS AR AR PgY6m, ¢ AT, 69 O 66N €18
26mamI| -

qAIcIag ZIgR O 2K AR ¢Q 0Q8l Sl @¢ IRIJBAIER, AR @RQ @06, 6406 A10Q ALQRR

9 IF6R 4QLIQ RAULINYRI Y, 6AgHe QARG AIR AR Bg2em’ 6208 Y@ |
Options:

1) 2Q0IQ

2) Qe

3) 2gQIQ
4) Qe

Correct Answer: 4) Q¢

Candidate Answer: 4) Qaql
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QID : 59 - A¢J6Q JAIF FAIAIRER! RFGITY UeQ 1@° AF) JgYPea aaa dalg |

6QRG PR TR ¢ 64 01 6962 6d @ FIEM EAIRTN MR FIf TIR ARl A8 01 6016aR GIm |

oI 960 6@ R1RR TRMI GRUIER 2RI YR FEER FEPR IR AJIAY 60K FIMEIRI ARIS 62I9] AIY 691,
REAR 2IGER 6 6agMl, QIR AQRUER Q1Y 2RI - 6AEPR ATAIE AIR AR Ggelem, ¢ AR, 6Q O 6Q8IFN 78
Q6RRR| -

qigag 219w gaml @20l AR ¢Q B8 gml &¢)l 9LINBAIER IR @R QOER, 6AAG MAQ ALQed
2 UIG6R IR PRI 5Y, 69 GI'Q 6REIT (6l M’ e _____ |

Options:

1) 2e0IQ

il Techofworld.In

4) Qe
Correct Answer: 2) Qd@

Candidate Answer: 1) 2@QIQ

QID : 60 - A¢6Q QIR FAARYQ GIVITG ARG Ie° 7Y AFYPR AR 72g |

6PRGEN Ong TR ¢ 64 01q 6948 64 @ FIERI 6AIRE UA Gl TIR PRI A8 91 60I6QR CIR |

oI J6Q 69 PIRQ Jaml gRUIER 2Ol UILQ FEER FEER FIR ATAG 66R SIMGIMI ARIS 69199 AL 691Y,
PP AIY6a 64 6RgM, I AR QY Ml - 6dgee AU AR AR Ggejem, ¢ AR, 69 B 6AGIF 716
Q6maml| -

AIGag AP Ogam @R IR g 08 gml A IRIAPAIER, AR gRQ Q0ER, 6376 A1ee JLgeR

6618 UP6R "A10Q6a JRIDR" e 28 @'8?

Options:

1) 6618 2IH6R @8 QIR 6d1Rdig AR Adal A2 PRAI *RaR |
2) 96eR6 U8 @0IR AR AIP QIRE QIR AIY QAER M|

3) AMIF0I6R PR F1E, 60 AR IFRIR AKPR
4) @90 2AgAI) A1 LA AR FID |

Correct Answer: 1) 66@ 2560 @@ QEIQ 6dl0dig A1Qe dPAl A2 @RR| @A8F |

Candidate Answer: 1) 6619 21560 @8 QEQIQ 6dledig MAQ ALAI AQ QAR RRRT |

QID : 61 - The sentence below has been divided into three parts. Select the part of the sentence that
has an error. If the sentence has no error, select the option 'No Error'. He work/ for the government on
a /top secret project.
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Options:
1) He work
2) for the government on a

3) top secret project
4) None of the others.

Correct Answer: 1) He work

Candidate Answer: 1) He work

Techofworld.In

QID : 62 - Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully. (How long have it been) since you last ate?.

Options:
1) How long it has been
2) How long it's been

3) How long is it been
4) How long has it been

Correct Answer: 4) How long has it been

Candidate Answer: 4) How long has it been

QID : 63 - Choose the right active sentence for this passive sentence: Have you been given the
information?

Options:
1) Has the information given to you?
2) Have the information been given to you?

3) Has the information been given to you?
4) You have been given the information?

Correct Answer: 3) Has the information been given to you?

Candidate Answer: 3) Has the information been given to you?

QID : 64 - Select the most appropriate word that fills in the blank correctly and completes the
sentence meaningfully.

He wonders the stars would align one last time.
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Options:
1) If

2) Unless
3) ever
4) will

Correct Answer: 1) If

Candidate Answer: 4) will

QID : 65 - Select the most appropriate word that fills in the blank correctly and completes the
sentence meaningfully. | not enabling this behaviour.

Options:

o Techofworld.In

3) can
4) have

Correct Answer: 1) am

Candidate Answer: 2) will

QID : 66 - Select the word that is closest in meaning (SYNONYM) to the word given below.
Stroll

Options:

1) Cease

2) Saunter

3) Halt

4) Sprint

Correct Answer: 2) Saunter

Candidate Answer: 2) Saunter

QID : 67 - Select the word that is opposite in meaning (ANTONYM) to the word given below.

Effort
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Options:
1) Onerous
2) Tenacious

3) Ease
4) Arduous

Correct Answer: 3) Ease

Candidate Answer: 3) Ease

QID : 68 - Select the word that is spelled correctly.

Options:

2) Priscription -
3) Priscripsion

4) Prescreption

Correct Answer: 1) Prescription

Candidate Answer: 1) Prescription

QID : 69 - Select the most appropriate 'one word ' for the expressions given below. A narrow
horizontal surface, coming out of a wall.

Options:
1) Pillar
2) Ledge
3) Column
4) Brick

Correct Answer: 2) Ledge

Candidate Answer: 1) Pillar

QID : 70 - Select the most appropriate meaning of the given idiom with a similar Idiom. A shot in the
dark.
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Options:

1) Randomly doing something, the outcome of which is unknown.
2) Shooting in the night

3) A blind man's cane

4) Looking at the stars.

Correct Answer: 1) Randomly doing something, the outcome of which is unknown.

Candidate Answer: 1) Randomly doing something, the outcome of which is unknown.

QID : 71 - According to Wyatt and Thompson, how many specific aims are there for teaching English?

Options:

ik Techofworld.In

3) 4
4)7

Correct Answer: 3) 4

Candidate Answer: 3) 4

QID : 72 - In India, English is mostly practiced as a
Options:

1) Third Language

2) Second Language

3) First Language

4) New Language

Correct Answer: 2) Second Language

Candidate Answer: 2) Second Language

QID : 73 - Who defined education goals as “the desired goal or outcome at which instruction is
aimed”?
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Options:
1) Harry Harlow
2) Herbert A. Simon

3) Dr. S.R. Bloom
4) Gordon Allport

Correct Answer: 3) Dr. S.R. Bloom

Candidate Answer: 3) Dr. S.R. Bloom

QID : 74 - Which one the following is not a feature of real goals?

T e 1 €CNOTWOI

2) It should be for the development of the students
3) It should be based on psychological principles
4) It should be fast

Options:

Correct Answer: 4) It should be fast

Candidate Answer: 4) It should be fast

QID : 75 - Semantics in language is related with
Options:

1) Understanding

2) Writing

3) Reading

4) Listening

Correct Answer: 1) Understanding

Candidate Answer: 3) Reading

QID : 76 - Phonetics in language deals with
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Options:
1) Study of sign process
2) Pronunciation, spellings and sounds

3) Structural rules of sentence making
4) History of words

Correct Answer: 2) Pronunciation, spellings and sounds
Candidate Answer: 2) Pronunciation, spellings and sounds

[ echofworld.In
QID : 77 - Which one of the following does not come under the ability to write English?
Options:

1) Using correct vocabulary in the appropriate place
2) Spelling words correctly

3) Pronouncing with right intonation and stress

4) Building sentences without grammatical errors

Correct Answer: 3) Pronouncing with right intonation and stress

Candidate Answer: 3) Pronouncing with right intonation and stress

QID : 78 - What is the age limit of a preschooler?
Options:

1) 1 year

2) 6-11 years

3) 6 months

4) 4-6 years

Correct Answer: 4) 4-6 years

Candidate Answer: 4) 4-6 years

QID : 79 - Which one of these influences both Personality and Development in an individual?

JoinUs-' > f



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Options:
1) Heredity
2) Environment

3) Society
4) Self-confidence

Correct Answer: 1) Heredity
Candidate Answer: 2) Environment

Techofworld.In

QID : 80 - The assessment which usually takes place at the end of an academic year or at the end of
aterm is known as

Options:
1) Portfolio Assessment
2) Formative Assessment

3) Summative Assessment
4) Quality Assessment

Correct Answer: 3) Summative Assessment

Candidate Answer: 2) Formative Assessment
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QID : 81 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

To mark the importance of the Republic Day, every year a grand parade is held in the capital, New
Delhi, from the Raisina Hill Rashtrapati Bhavan (the President's residence), along the Rajpath, past
India Gate. Prior to its commencement, the Prime Minister lays a floral wreath at the Amar Jawan
Jyoti, a memorial to fallen soldiers at the India Gate at one end of Rajpath, which is followed by two
minutes silence in the memory of fallen soldiers. It is a solemn reminder of the sacrifice of the
martyrs who died for the country in the freedom movement and the succeeding wars for the defence
of sovereignty of their country. There after he/she reaches the main dias at Rajpath to join other
dignitaries, subsequently the President arrives along with the chief guest of the occasion. They are
escorted on horseback by the President's Bodyguard.

First, the President unfurls the National flag, as the National Anthem is played, and a 21-gun salute is
given as the Presidential Body Guard (PBG) renders the National Salute. Next, important awards like
the Ashok Chakra and Kirti Chakra are given away by the President. This is followed by the regiments
of Armed Forces starting their march past. The President comes forward to award the medals of
bravery to the people from the armed forces for their exceptional courage in the field and also the
civilians, who have distinguished themselves by their different acts of valour in different situations.
Children who receive the National Bravery Award ride past the spectators on colourfully decorated
elephants or vehicles.

During 1950-1954, Republic Day celebrations were organised at different venues like Irwin Stadium
(National Stadium), Kingsway (Rajpath), Red Fort and Ramlila grounds. It was only starting 1955
when the parade in its present form was organised at Rajpath. The guest country is chosen after a
deliberation of strategic, economic and political interests. France has the distinction of being the
guest of honour for the maximum (five) number of times followed by four visits from Bhutan and
three visits each from Mauritius and USSR/Russia.

The Beating Retreat ceremony officially denotes the end of Republic Day festivities. It is conducted on
the evening of 29 January, the third day after the Republic Day. It is performed by the bands of the
three wings of the military, the Indian Army, Indian Navy and Indian Air Force. The venue is Raisina
Hills and an adjacent square, Vijay Chowk, flanked by the north and south block of the Rashtrapati
Bhavan (President's Palace) towards the end of Rajpath.

Which of these did not serve as a venue for the Republic Day Parade between 1950-1954?

Options:

— Techofworld.In

2) Irwin Stadium
3) Kanteerava Stadium
4) Red Fort

Correct Answer: 3) Kanteerava Stadium

Candidate Answer: 2) Irwin Stadium

JoinUs-‘ > f



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

QID : 82 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

To mark the importance of the Republic Day, every year a grand parade is held in the capital, New
Delhi, from the Raisina Hill Rashtrapati Bhavan (the President's residence), along the Rajpath, past
India Gate. Prior to its commencement, the Prime Minister lays a floral wreath at the Amar Jawan
Jyoti, a memorial to fallen soldiers at the India Gate at one end of Rajpath, which is followed by two
minutes silence in the memory of fallen soldiers. It is a solemn reminder of the sacrifice of the
martyrs who died for the country in the freedom movement and the succeeding wars for the defence
of sovereignty of their country. There after he/she reaches the main dias at Rajpath to join other
dignitaries, subsequently the President arrives along with the chief guest of the occasion. They are
escorted on horseback by the President's Bodyguard.

First, the President unfurls the National flag, as the National Anthem is played, and a 21-gun salute is
given as the Presidential Body Guard (PBG) renders the National Salute. Next, important awards like
the Ashok Chakra and Kirti Chakra are given away by the President. This is followed by the regiments
of Armed Forces starting their march past. The President comes forward to award the medals of
bravery to the people from the armed forces for their exceptional courage in the field and also the
civilians, who have distinguished themselves by their different acts of valour in different situations.
Children who receive the National Bravery Award ride past the spectators on colourfully decorated
elephants or vehicles.

During 1950-1954, Republic Day celebrations were organised at different venues like Irwin Stadium
(National Stadium), Kingsway (Rajpath), Red Fort and Ramlila grounds. It was only starting 1955
when the parade in its present form was organised at Rajpath. The guest country is chosen after a
deliberation of strategic, economic and political interests. France has the distinction of being the
guest of honour for the maximum (five) number of times followed by four visits from Bhutan and
three visits each from Mauritius and USSR/Russia.

The Beating Retreat ceremony officially denotes the end of Republic Day festivities. It is conducted on
the evening of 29 January, the third day after the Republic Day. It is performed by the bands of the
three wings of the military, the Indian Army, Indian Navy and Indian Air Force. The venue is Raisina
Hills and an adjacent square, Vijay Chowk, flanked by the north and south block of the Rashtrapati
Bhavan (President's Palace) towards the end of Rajpath.

Who unfurls the National Flag during the Republic Day Parade?

Options:

e Techofworld.In

2) Prime Minister
3) Chief Minister
4) Chief Guest

Correct Answer: 1) President

Candidate Answer: 1) President
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QID : 83 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

To mark the importance of the Republic Day, every year a grand parade is held in the capital, New
Delhi, from the Raisina Hill Rashtrapati Bhavan (the President's residence), along the Rajpath, past
India Gate. Prior to its commencement, the Prime Minister lays a floral wreath at the Amar Jawan
Jyoti, a memorial to fallen soldiers at the India Gate at one end of Rajpath, which is followed by two
minutes silence in the memory of fallen soldiers. It is a solemn reminder of the sacrifice of the
martyrs who died for the country in the freedom movement and the succeeding wars for the defence
of sovereignty of their country. There after he/she reaches the main dias at Rajpath to join other
dignitaries, subsequently the President arrives along with the chief guest of the occasion. They are
escorted on horseback by the President's Bodyguard.

First, the President unfurls the National flag, as the National Anthem is played, and a 21-gun salute is
given as the Presidential Body Guard (PBG) renders the National Salute. Next, important awards like
the Ashok Chakra and Kirti Chakra are given away by the President. This is followed by the regiments
of Armed Forces starting their march past. The President comes forward to award the medals of
bravery to the people from the armed forces for their exceptional courage in the field and also the
civilians, who have distinguished themselves by their different acts of valour in different situations.
Children who receive the National Bravery Award ride past the spectators on colourfully decorated
elephants or vehicles.

During 1950-1954, Republic Day celebrations were organised at different venues like Irwin Stadium
(National Stadium), Kingsway (Rajpath), Red Fort and Ramlila grounds. It was only starting 1955
when the parade in its present form was organised at Rajpath. The guest country is chosen after a
deliberation of strategic, economic and political interests. France has the distinction of being the
guest of honour for the maximum (five) number of times followed by four visits from Bhutan and
three visits each from Mauritius and USSR/Russia.

The Beating Retreat ceremony officially denotes the end of Republic Day festivities. It is conducted on
the evening of 29 January, the third day after the Republic Day. It is performed by the bands of the
three wings of the military, the Indian Army, Indian Navy and Indian Air Force. The venue is Raisina
Hills and an adjacent square, Vijay Chowk, flanked by the north and south block of the Rashtrapati
Bhavan (President's Palace) towards the end of Rajpath.

How many minutes' silence is maintained for the martyrs?

Options:

il Techofworld.In

3) two
4) five

Correct Answer: 3) two

Candidate Answer: 3) two
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QID : 84 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

To mark the importance of the Republic Day, every year a grand parade is held in the capital, New
Delhi, from the Raisina Hill Rashtrapati Bhavan (the President's residence), along the Rajpath, past
India Gate. Prior to its commencement, the Prime Minister lays a floral wreath at the Amar Jawan
Jyoti, a memorial to fallen soldiers at the India Gate at one end of Rajpath, which is followed by two
minutes silence in the memory of fallen soldiers. It is a solemn reminder of the sacrifice of the
martyrs who died for the country in the freedom movement and the succeeding wars for the defence
of sovereignty of their country. There after he/she reaches the main dias at Rajpath to join other
dignitaries, subsequently the President arrives along with the chief guest of the occasion. They are
escorted on horseback by the President's Bodyguard.

First, the President unfurls the National flag, as the National Anthem is played, and a 21-gun salute is
given as the Presidential Body Guard (PBG) renders the National Salute. Next, important awards like
the Ashok Chakra and Kirti Chakra are given away by the President. This is followed by the regiments
of Armed Forces starting their march past. The President comes forward to award the medals of
bravery to the people from the armed forces for their exceptional courage in the field and also the
civilians, who have distinguished themselves by their different acts of valour in different situations.
Children who receive the National Bravery Award ride past the spectators on colourfully decorated
elephants or vehicles.

During 1950-1954, Republic Day celebrations were organised at different venues like Irwin Stadium
(National Stadium), Kingsway (Rajpath), Red Fort and Ramlila grounds. It was only starting 1955
when the parade in its present form was organised at Rajpath. The guest country is chosen after a
deliberation of strategic, economic and political interests. France has the distinction of being the
guest of honour for the maximum (five) number of times followed by four visits from Bhutan and
three visits each from Mauritius and USSR/Russia.

The Beating Retreat ceremony officially denotes the end of Republic Day festivities. It is conducted on
the evening of 29 January, the third day after the Republic Day. It is performed by the bands of the
three wings of the military, the Indian Army, Indian Navy and Indian Air Force. The venue is Raisina
Hills and an adjacent square, Vijay Chowk, flanked by the north and south block of the Rashtrapati
Bhavan (President's Palace) towards the end of Rajpath.

Which country has the distinction of being the guest of honour for the maximum number of times?
Options:

1) Bhutan
2) France

Techofworld.In

4) Pakistan
Correct Answer: 2) France

Candidate Answer: 2) France
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QID : 85 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

To mark the importance of the Republic Day, every year a grand parade is held in the capital, New
Delhi, from the Raisina Hill Rashtrapati Bhavan (the President's residence), along the Rajpath, past
India Gate. Prior to its commencement, the Prime Minister lays a floral wreath at the Amar Jawan
Jyoti, a memorial to fallen soldiers at the India Gate at one end of Rajpath, which is followed by two
minutes silence in the memory of fallen soldiers. It is a solemn reminder of the sacrifice of the
martyrs who died for the country in the freedom movement and the succeeding wars for the defence
of sovereignty of their country. There after he/she reaches the main dias at Rajpath to join other
dignitaries, subsequently the President arrives along with the chief guest of the occasion. They are
escorted on horseback by the President's Bodyguard.

First, the President unfurls the National flag, as the National Anthem is played, and a 21-gun salute is
given as the Presidential Body Guard (PBG) renders the National Salute. Next, important awards like
the Ashok Chakra and Kirti Chakra are given away by the President. This is followed by the regiments
of Armed Forces starting their march past. The President comes forward to award the medals of
bravery to the people from the armed forces for their exceptional courage in the field and also the
civilians, who have distinguished themselves by their different acts of valour in different situations.
Children who receive the National Bravery Award ride past the spectators on colourfully decorated
elephants or vehicles.

During 1950-1954, Republic Day celebrations were organised at different venues like Irwin Stadium
(National Stadium), Kingsway (Rajpath), Red Fort and Ramlila grounds. It was only starting 1955
when the parade in its present form was organised at Rajpath. The guest country is chosen after a
deliberation of strategic, economic and political interests. France has the distinction of being the
guest of honour for the maximum (five) number of times followed by four visits from Bhutan and
three visits each from Mauritius and USSR/Russia.

The Beating Retreat ceremony officially denotes the end of Republic Day festivities. It is conducted on
the evening of 29 January, the third day after the Republic Day. It is performed by the bands of the
three wings of the military, the Indian Army, Indian Navy and Indian Air Force. The venue is Raisina
Hills and an adjacent square, Vijay Chowk, flanked by the north and south block of the Rashtrapati
Bhavan (President's Palace) towards the end of Rajpath.

The Beating Retreat ceremony is held at which of these places?

Options:
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2) Hutatma Chowk
3) Mahatma Gandhi Chowk
4) Vijay Chowk

Correct Answer: 4) Vijay Chowk

Candidate Answer: 4) Vijay Chowk
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QID : 86 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

Stopping By Woods On A Snowy Evening
- Robert Frost

Whose woods these are | think | know.
His house is in the village, though;

He will not see me stopping here

To watch his woods fill up with snow.

My little horse must think it queer
To stop without a farmhouse near
Between the woods and frozen lake
The darkest evening of the year.

He gives his harness bells a shake

To ask if there is some mistake.

The only other sound's the sweep

Of easy wind and downy flake.

The woods are lovely, dark and deep,

But | have promises to keep,

And miles to go before | sleep,

And miles to go before | sleep.

Who will not watch the poet stopping by the wood?

Options:

1) The owner of the woods

e Techofworld.Ir

4) His friend
Correct Answer: 1) The owner of the woods

Candidate Answer: 3) His horse
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QID : 87 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

Stopping By Woods On A Snowy Evening
- Robert Frost

Whose woods these are | think | know.
His house is in the village, though;

He will not see me stopping here

To watch his woods fill up with snow.

My little horse must think it queer
To stop without a farmhouse near
Between the woods and frozen lake
The darkest evening of the year.

He gives his harness bells a shake
To ask if there is some mistake.
The only other sound's the sweep
Of easy wind and downy flake.

The woods are lovely, dark and deep,
But | have promises to keep,
And miles to go before | sleep,

And miles to go before | sleep.

Where does the owner of the woods live?

Options:
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2) in the city
3) in the woods
4) in the village

Correct Answer: 4) inthe village

Candidate Answer: 4) in the village

JoinUs-' > f



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

QID : 88 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

Stopping By Woods On A Snowy Evening
- Robert Frost

Whose woods these are | think | know.
His house is in the village, though;

He will not see me stopping here

To watch his woods fill up with snow.

My little horse must think it queer
To stop without a farmhouse near
Between the woods and frozen lake
The darkest evening of the year.

He gives his harness bells a shake
To ask if there is some mistake.
The only other sound's the sweep
Of easy wind and downy flake.

The woods are lovely, dark and deep,

But | have promises to keep,

And miles to go before | sleep,

And miles to go before | sleep.

Which of these words does the poet not use to describe the woods?

Options:

1) lovely
2) dangerous

o Techofworld.In

Correct Answer: 2) dangerous

Candidate Answer: 2) dangerous
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QID : 89 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

Stopping By Woods On A Snowy Evening
— Robert Frost

Whose woods these are | think | know.
His house is in the village, though;

He will not see me stopping here

To watch his woods fill up with snow.

My little horse must think it queer
To stop without a farmhouse near
Between the woods and frozen lake
The darkest evening of the year.

He gives his harness bells a shake
To ask if there is some mistake.

The only other sound’s the sweep
Of easy wind and downy flake.

The woods are lovely, dark and deep,
But | have promises to keep,

And miles to go before | sleep, | e C h OfWO rI d I r
And miles to go before | sleep. €

Who is the poet's travel companion?

Options:

1) the owner of the woods

2) His wife

3) His horse

4) His friend

Correct Answer: 3) His horse

Candidate Answer: 3) His horse
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QID : 90 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

Stopping By Woods On A Showy Evening
-- Robert Frost

Whose woods these are | think | know.
His house is in the village, though;

He will not see me stopping here

To watch his woods fill up with snow.

My little horse must think it queer
To stop without a farmhouse near
Between the woods and frozen lake
The darkest evening of the year.

He gives his harness bells a shake
To ask if there is some mistake.
The only other sound's the sweep
Of easy wind and downy flake.

The woods are lovely, dark and deep,
But | have promises to keep,

And miles to go before | sleep,

And miles to go before | sleep.

What does the horse do to warn the poet?

o Techofworld.In

1) shake his harness bells

2) neigh loudly

3) run into the woods

4) refuse to walk through the snow

Correct Answer: 1) shake his harness bells

Candidate Answer: 3) run into the woods

QID : 91 - Which of the following definition is given by Bertrand Russell?

I. Mathematics is the language in which God has written the universe

Il. Mathematics is defined as the subject in which we neither know what we are talking about nor
what we are saying true

RARGE FuQ 696 R T QIRGIE QAR QI FANAIRE?
. 6186 6208 696 QT KL QIR QSRR JaI I°AIQ § 6MERE
II. 66 6208 696 BT, 6AIRYER 2I6F FIRI FUAER @Y KA & 2 @ RIEg & Zier Q2 @gQ 12 O 218

JoinUs-' > f



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Options:

1) Only |

6Rew |

2) Only Il

Qe Il

3) Both land Il

Qaw, | Gl

4) No option is correct
6al6ld @@ O gee

Correct Answer: 2) Only Il
caee |l

Candidate Answer: 4) No option is correct

Techofworld.In

QID : 92 - On the basis of the various definitions given by Locke, Galileo, Marshall H.Stone about
mathematics, what can we conclude about Mathematics?

@, CIRMG, AR 90 6qR & QIR F2AVIRAR! A°HI O AR @Q 2I6r GIEIE VLR @6 QIR VIR 6]
ager?

Options:

1) Mathematics is the science of space and numbers
0180 6RQR a4 IQ° A°GMIQ AFIR

2) Mathematics is the science of calculations

cléio 6008 2aIQ Q ARIe

3) Mathematics is the abstract form of science

lEio 62GR R Q 6RO CRHRTR Qd

4) All options are correct

aQ Qaq O 28

Correct Answer: 4) All options are correct
ag aaq Oe 28

Candidate Answer: 3) Mathematics is the abstract form of science
08I0 6208 RIA A 61PN WP QA

QID : 93 - In mathematics, To make a drill affective which of the following statements should not be
considered?

68060 B § TRYL AR Al AQ AIRYTY G286 FAIAIR AR RE?
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Options:

1) Variety of problems will make the drill interesting

aaayl Q FRQE! M Q 2R FEQ

2) Drill exercises should be brief and distributed over a period of time
ORIty o 2B Ye° ARIPAIR QE 6291 ARIQ

3) The drill work should be progressively more easy

on @14 goe 968 996 6291 QIR

4) All options are correct

a9 @aq Oe 28

Correct Answer: 3) The drill work should be progressively more easy
on Iy goe 9168 e 6291 PARIR

Candidate Answer: 2) Drill exercises should be brief and distributed over a period of time
R Iy gOe @AY 9e° ARIQAIR Qe 620! QARIQ

Techofworld.In

QID : 94 - All great educationist like Herbert, Pestolozzi etc. has accepted mathematics as a symbol
of ;
I. Human development
Il. Wealth creation

lll. Poverty eradication

2466, 6Ag6MIFT AGYIG Afg FRIR SAIGE C8eg _____ Q @°6R0 R ge6 @AL].
l. IR0 QRI6l

1. ue qF
1. eaa1 Qagme

Options:

1) land Il
(Heall

2) lland Ill
nain

3) Only Il
caam ll

4) Only |
6w |

Correct Answer: 4) Only|
caem |

Candidate Answer: 4) Only |
caem |
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QID : 95 - Which of the following is an advantage of written work in Mathematics?

RIMYO I 6aEE CIEID6R Mee I Q Y@ MK 2667
Options:

1) Written work in Mathematics can be time consuming

clEioea Mgl @IY 2RQeRIRT (REALY) 62IRdIER

2) Through written work, Mathematics can be retained for a longer period of time
Rge eI QIQl 686 @ AR AFIL AR F6R QS IR AR

3) Written work is a laborious task

MO @I 9@ ARGTR Q1A

4) Learners can benefit only from oral work in Mathematics

giteh 6297 66lgR @I QIR G180 66 MNP 62R AIRES

Correct Answer: 2) Through written work, Mathematics can be retained for a longer period of time
Rgie @14 IRl 8IS @ e AL, AR FI6R A8l AR AR

Candidate Answer: 1) Written work in Mathematics can be time consuming
clEioea mele @I 2RQeRIRT (FEFF) 621adIeR

Techofworld.In

QID : 96 - Which of the following is/are correct objective(s) of assignments in Mathematics?
|. To solve mathematical problems

Il. To collect mathematical data

lll. To learn about the biography of a particular mathematician

IV. To formulate problems on a concept

PRGOS FIQ 6R6G/ 6RAYER EIP6A AUSINREAE Q AERE! 266/26H?
. GIEIG® AFay Q AFIRIP @QQ

Il. GlIEioR Qe €°g@ @R

1. 98e GEoR & 190 VAL FIEQ!

IV. @96Qq @d6a AAQY GaIR @t

Options:

1)1, 11, i and IV
1,11, 111982 1V
2) 11, 11l and IV
11, 11198° IV

3) 1, land Il

I, 119 e 111
4)1,land IV

I, 11 9° IV

Correct Answer: 4) |, Iland IV
I, 11 9@° IV

Candidate Answer: 4) |, Il and IV
I, I19@° |V
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QID : 97 - Which of the following structures is NOT a type of structure in Mathematics?
PORYE CAERI FRIQ 6R6E G150Q 9@ T°QORI Q66?
Options:

1) Algorithmic structures
ZIR6aIRQe (algorithm) Qo
2) Algebraic structures
QRGER QAR

3) Order structures

aiews Qe

4) Topological structures
661ORERIA (topological) QeR!

Correct Answer: 1) Algorithmic structures
2IR6CIRQe (algorithm) Qe

Candidate Answer: 3) Order structures

Techofworld.In

QID : 98 - Mathematics curriculum in schools provide which of the following benefits?
gm 60 IEPR AI0YFA PR RIQ KR Y 6QRRIN?
Options:

1) Mathematics enhances rote learning

010 8l @Al 4P @LIRAIN

2) Mathematics generates logical attitude

6lEI0 0@ 6o FIERIQR QF @6a

3) Mathematics provides insights into linguistic concepts
6160 QAIGIe @R6AY R ALY

4) Mathematics is a fictional subject

6180 66IeN RIRHR QaL

Correct Answer: 2) Mathematics generates logical attitude
G0 0@ A°6I0 AERIQR AF 61

Candidate Answer: 2) Mathematics generates logical attitude
80 06 C°60 AERIQA 9F @69

QID : 99 - Which of the following statements is NOT correct regarding Mathematical language?

CIE0e QEl 3E06Q @Q § O g6e7?
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Options:

1) It is highly complex and inapt

QI QIR @R IQ° 2o

2) Mathematical language is highly compact and focused
CIE0R QIAI @90 ARG 1e° 6R50

3) It helps in developing scientific attitude among children
9| RIF A6Q 6TRIDR F6RIQR RIBIRE ARRIER AILIYY P6R
4) It is well defined, useful and clear

2| AP0 QAUQER AARITE, 6NN 99° A9R

Correct Answer: 1) Itis highly complex and inapt
2| QIR @TR 9Q° 208

Candidate Answer: 1) Itis highly complex and inapt

Techofworld.Iln

QID : 100 - Which of the following values can be associated with Mathematics?
I. Cultural values

Il. Psychological values

Ill. Social values

IV. Disciplinary values

RRee A 6046 1 §/gee 680 986 #F0 @8l AIRAIEA?
| QrgoR R

Il. 1IRAR FRY

. AT R4

IV. g&f@l ee am

Options:

1) 1, land Il
LG

2) Both Il and IV
Qe 1l G IV

3) Both I and Il
Qa1 G I

4) 11,1 and IV
LIL Gy

Correct Answer: 4) |, II, Il and IV
LI, MaEIv

Candidate Answer: 4) |, Il 1ll and IV
LI maIv
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QID:101-

1 1 .
ifx =1- 4 .then what is the value of
feiZ 1-3/2°

x27?

- 1 1
aex =1- + , Slewem X Q (JmY E@EL7

ferAJ2 1=l

Options:
1)9-5v2

2)5-3v2

947 Techofworld
4)8 - 4v2

Correct Answer: 3) 9 — 4v2

Candidate Answer: 3) 9 — 4v2

QID:102-

If 55 % 5° + 52252 thenwhatis the value of
X7

@@ 5/5x 5° + 57 =52 GI6e6m x Q FJRY 6667

Options:

16

2)3

3)4

4) 2

Correct Answer: 3) 4

Candidate Answer: 1) 6
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QID : 103 - Which of the following number when divided by 11, 6 and 15 leaves remainder 5 in each
case?

QA RAA TR 11, 6 9Q° 15 QIQl ARURR Q6m AQERER AVEEE 5 Q@eIN?

Options:

1) 325

o | hof 1d.|
eCcnotworid.in

3) 330

4) 335
Correct Answer: 4) 335

Candidate Answer: 1) 325

QID : 104 - The length of a rectangle is 8 cm. If its diagonal is 10 cm, then what is the area (in cm?) of
the rectangle?

661157 PQERA ME] 8 cm. K& YPIQ @& 10 cm, PIEREM PPER A EAGTR (cm? 61) 6R66?
Options:

1) 54

2) 48

3) 60

4) 36

Correct Answer: 2) 48

Candidate Answer: 2) 48

QID : 105 - The area of a square is 50 cm?. What is the length (in cm) of its diagonal?

6616\ @61 @ 689 50 cm?. IRIA @4 A RGO (cm 6Q) 69667
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Options:

1) 10v2

2)12.5

3)10

4) 8v2

Correct Answer: 3) 10

Candidate Answer: 4) 8v2

QID : 106 - The height and radius of a cylinder is 8 cm and 6 cm respectively. What is the cost (in Rs)
of painting the total surface area of the cylinder at the rate of Rs 14 per cm??

6615~ ARG @RI G IAIS FRIQ6F 8 cm B 6 cm . g6 cm? @ Rs 14 84196 €elg 68GTFRG QR 600!
ARl 6060 GF| 66 62972

i Techofworld.In

4) 5544
Correct Answer: 1) 7392

Candidate Answer: [ NOT ANSWERED |

QID: 107 - If a/3 = b/4 = ¢/7, then what is the value of [(2a + 2b + 3¢)/c]?
2% a/3 = b/4 = ¢/7, Pl6@6m of [(2a + 2b + 3c)/c] @ FmY 6m60 6897
Options:

1)4

2)5

3)6

4)3
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Correct Answer: 2) 5

Candidate Answer: 1) 4

QID : 108 -

Whatis the value of

( 3 3 \( )
l1+1'(1+L’(1+ L 1l1+ i |?
v BA TN 2425

( 1Y % 3 1 |
1+f."1+—'(1+~—j 1+ \LGlFlﬁili
L ox M x+1)U x+2)

E@EG7

Options:

s Techofworld

2) 1/x

3)
.1
X+4

14

4) 1+ (4/%)
Correct Answer: 4) 1+ (4/x)

Candidate Answer: 4) 1+ (4/x)

QID : 109 - If (x + 2) is a factor of X3 — 2ax? + 16, then what is the value of a?

Q8 (x +2), x3 - 2ax? + 16 QIR GERIAR (TINCQR), FI6REM a Q FJRY 6R60 62?

Options:

1
2)2
3)3
4)4
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Correct Answer: 1) 1

Candidate Answer: 1) 1

QID : 110 - If 3*2 — 7 = 236, then what is the value of x?

Q@ 3**2 - 7 = 236, 01626 X Q fmY 6260 627

Options:

12

Z Techofwo
3)3

4)5

Correct Answer: 3) 3

Candidate Answer: 3) 3

QIb:111-

Whatis the third proportionalto

b
(S + —)' and va’ +b” ?
2

\

3\

‘a b
ST
Lb a

Options:

3 a’ + b’ gIR Gola AIGURe 69667

1) Ab
2) v(ab)

3) v(a/b)

4) ab/(a+b)

Correct Answer: 1) Ab
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Candidate Answer: 2) v(ab)

QID : 112 - The sum of two numbers is 40 and their difference is 4. What is the ratio of the number?
QRG Q°6iil Q AAF 40 IQ° 6ARIRE 2QQ TR 4. A°6HY QREQ 2QAIR 62667
Options:
1)11:5
»»  [Techofworld.In
8
3)11:9
4)7:15
Correct Answer: 3) 11:9

Candidate Answer: 3) 11:9

QID : 113 - A and B can do a piece of work in 12 days. B and C in 15 days and C and A in 24 days. If A,
B and C work together, then how many days will they take to complete the work?

A 3 B 665N @169 12 B06a @QdIRER. B B C 6615\ @IF1g 15 8060 \9Q° C B A, 24 §06a @RAIR6. K& A, B
B C Yol A2 QIFl @QF Cl6R6M 6960 §R6Q 64FlIER QIFg gl @A6a?
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Options:

1
5.2
23

2)

‘15E

= Techofworld.In

g2

23

3)

4)

1112

23

Correct Answer: 3)

‘IOE

23

Candidate Answer: [ NOT ANSWERED ]

QID : 114 - A man purchased 7 bags of rice at the rate of Rs 600 each and 8 bags of rice at the rate of
Rs 800 each. What is the average cost (in Rs) of one bag of rice?

661 Q47 J604@ @461 @ Rs 600 2A196a 7 & @461 99° Rs 800 891060 8 G @4I6! Elem. 661157 Q41616 QIQURIG
Ry 69607

Options:
1) 700

2) 806.56
3) 706.66
4) 750.66

Correct Answer: 3) 706.66

Candidate Answer: 3) 706.66
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QID : 115 - By selling a TV for Rs 1040 a man earn 4% profit. If he sells it for Rs 950, then what will be
the loss percentage?

661IGN GR(TV) @ Rs 1040 60 86 @661 @489 4% MIQ ARMI. 06 6a 921q Rs 950 6a 37 RaF, Cl626R OIFA
[/ % 6060 6297

Options:

b6 Techofworld.In

3)4.5
4) 4

Correct Answer: 1) 5

Candidate Answer: 3) 4.5

QID : 116 - AABC is similar to APQR. If the ratio of the area of AABC and APQR is 16 : 25, then what is
the ratio of sides AB and PQ?

AABC, APQR @@ aqlQ. I& AABC 9@° APQR @ 68QC0R Q 2I9QIe 16:25 £+, 6062 QI9 AB G PQ @ 2QdIe
60607

Options:
1)4:25
2)2:5
3)16:25
4)4:5

Correct Answer: 4) 4:5

Candidate Answer: 3) 16:25
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QID: 117 -
In the given figure, ABCD is a square of side 14
cm. Whatis the area (in cm?) of the shaded
region?

Q2R 6¢ 60 ABCD 9aed QIgia lg 14 cm .
FAITC 687G @ 6ASTR (cm? 6Q) 6REE 687

D C

2 Techofwo

Correct Answer: 3) 42

Candidate Answer: 2) 56
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QID:118-

In the given figure, PQ is parallelto BC. If PQ:
BC=2:3andAB = 30 cm, thenwhat is the
value (incm) of AP?

QadieRl 9g 62, PQ, BC 9w ddlisq <@ PQ : BC
=2:3 3 AB =30 cm, 91625n AP 6@60 65972

A
P Q
B C

Options:

1) 20

o Techofwol
3) 15

4) 18

Correct Answer: 1) 20

Candidate Answer: 3) 15
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QID:119-
In the given figure, O is the centre of the circle.
Whatis the value (in degrees)of ~/POQ?

Faipeel 5g 62 O 6208 98 2 6a5. 90I6a LPOQ
6@E0 (G491 69) 6897

. Techofworld.In

4) 140
Correct Answer: 4) 140

Candidate Answer: 2) 110

QID : 120 - The sides of a triangle are in the ratio 2 : 2 : 5. What is the value (in degrees) of the largest
angle?

66115\ GQR Q QI gEe Q aAQAIG 2 : 2 : 5. GI6R6M QERC 6RIE G 6R60 6297
Options:

1) 90

2) 110

3)120

4) 100
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Correct Answer: 4) 100

Candidate Answer: 4) 100

QID : 121 - Which of the following is emphasised in laboratory method?
JIFICIR ARTER (7] A 6045 QAU6R QY @2l 621R8?

Options:

wen  JTechofworld.In

2) Learning by doing
@IdY @Gel gl &gl

3) To gain experience
RO RIS FRQ!

4) All options are correct
ang deq ade

Correct Answer: 4) All options are correct
aag Yeq ade

Candidate Answer: 3) To gain experience
GO RI6 @3Q!

QID : 122 - What is the reason behind banning the dissection of animals?

Jglel 9620 PTNRRR! J26Q RIQS @617
Options:

1) Animals are no longer available for dissection

JiéN G6Re IRl 2IQ AARY FILIF

2) They may spread new diseases

64C1I6R Q2 6RICI A°GFIE AT ARG

3) There is a need to sensitize students about prevention of cruelty to animals
agea 96 ﬁgam Joeald a¢inea SAIENAIRG A°6RQasR @R J6R Q88

4) Procuring animals has become an expensive proposition

Qg ege @8l QFRl 9gie 62in O 621RE

Correct Answer: 3) There is a need to sensitize students about prevention of cruelty to animals
agea 96 ﬁg«a@l g6l ainer SAITNAIRG A°6RAAER fAQ J6ARR Q88

Candidate Answer: 3) There is a need to sensitize students about prevention of cruelty to animals
Agea 96 PRI goeall asieea SRIENAIRE A°6RAAEIR RORI J6AIRR Qa8
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QID : 123 - Which of the following is not a characteristic of Integrated Approach in science teaching?

[

0ge 6a6iE ArIe S8l 9AF6 A0 6GEQY 6w ?
Options:

1) Integration of skills with contents
@@Q@g Q96 QAP AFEER

2) Multi = learning environment
Qe JREQs &gl

3) Teacher - centred teaching I e C h OfWO rI d | |
8@ - 625e AI04QIR ;

4) Child - centred teaching
§ig - 6@P@ QloYQIR

Correct Answer: 3) Teacher — centred teaching
Gige - 6R5e oY

Candidate Answer: 2) Multi - learning environment
QQE AREQs §ial

QID : 124 - Which of the following statement is true about Disciplinary Approach?
GErRI A°QIQ I8T BAER P 6RQ QIR I6Y?
Options:

1) Teacher as a facilitator

Q@ TIIReIcq 2a106a da@

2) Use of modern method in teaching science
AHIEQ A0YIREA 6IFER ARJPD IREA QLI
3) Wide — conceptual knowledge

gelq - A8l |IQ

4) Content - based teaching

dageq G el

Correct Answer: 4) Content — based teaching
daaeq Gae aae

Candidate Answer: 1) Teacher as a facilitator
@ TIdRcIeR 2QIe6a SRR

QID : 125 - Which is the best method for developing understanding in science students?

ORIea SRIENE FIEAR 6RRIGIFHPIR JIR F6TIAF A8E QE1G?
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Options:

1) Help them in carrying out scientific experiments
6QRIAR AAA-AAINI RARIER 6AFING ARG FQQ

2) Keeping them away from experiments

Olg AV-FAIVI OIQ QR6R AG@!

3) Keeping them busy in social activities

oI ANRRER FITRRICER Q1Y QG

4) Keeping them away from social activities

0 ANIRS AITARIA 0IQ YRER QYS!

Correct Answer: 1) Help them in carrying out scientific experiments
6TRIPQ AUNI-PAINI RARIER 6AAINE ARIAGI @Y

Candidate Answer: 1) Help them in carrying out scientific experiments
6QRIFR AUNI-PQINI RARIER 6AAIRE ARIACI @AY

Techofworld.ln

QID : 126 - It is important to organise local town/state level scientific activities because

dIn10, 9eQ / QIgIA aa 63HIFe fAURRIAYER a°606 @al JReJs RIS |
Options:

1) it entertains teachers

Q| SANEQ F6RI0R @61

2) it gives financial support to organisers

N2l 26PN 21T ARINE! O

3) it helps in discovering the scientific talent amongst the children
Q| figwQ FrIEQ 6IRING JOa A0YQ @RI6R A1 F6Q

4) students can use their time

FRINAIER OIFQ AAM QIR @R AIRER

Correct Answer: 3) it helps in discovering the scientific talent amongst the children
2| figwQ FrIEQ 6IRING YO A0YQ @QQI6R ALINS! F6Q

Candidate Answer: 3) it helps in discovering the scientific talent amongst the children
2l figara FrIEQ 6PRING 9Ol A0YQ @RRI6R ALINE! F6a

QID : 127 - Which of the following helps in better understanding of science?

M

PrIQ 666 FRIPA AP ANEA RIRR! Alel ARIAG! FEQ?
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Options:

1) Learning by doing

Ay @8 SgQl

2) By observation

Adeeaé QIR

3) Both learning by doing and by observation
Qe @I @8 &gl 9e° adeemsl gial Sige!

4) No option is correct

6al6id Qaq ade g6d

Correct Answer: 3) Both learning by doing and by observation
Qa0 QY @Q &gl e° adeemsl gIal &igQl

Candidate Answer: 3) Both learning by doing and by observation
QA AIY @8 &gl \9e° Adeems gIal &Rl

QID : 128 - Which of the following is the basis of science?

. Techofworlc

1) Factual knowledge
QI RIQ

2) Theoretical Knowledge
olRe ®RIQ

3) Myths

ARG

4) All options are correct
afg Geg ade

Correct Answer: 1) Factual knowledge
QIYe M

Candidate Answer: 2) Theoretical Knowledge
ol |

QID : 129 - Taxonomy of Cognitive Objectives in Science is given by .

ARINQ RIP1C, QEREGENQ 66/611@A4IQ QIQl Q21 @91
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Options:

1) B.S. Bloom

9.4Q. 9¢

2) Richard Freed

lallaXa (2

3) Lawrence Kohlberg
REQR 6RIERAI6

4) No option is correct
eal6id faq A0 gew

Correct Answer: 1) B.S. Bloom
Q.34 8¢

Candidate Answer: 1) B.S. Bloom

B Techofworld.In

QID : 130 - Which of the following statements does not show the characteristic features of “aims” in
teaching science?

Q01Q 6a46C 990 FRIRQ AI0YRIR Q "AAY JOR" Q 6FEYIGEQ 696N AR ?
Options:

1) Aims are broad and general

A 62GR YO IQ° ARIQS]

2) Aims need long term planning and some serious efforts on the part of the teacher
RAY SRGQ MR gel Q1dgI IR Ie° B8 gQea J6eYIa J6AIRR! 621R2)Q! ZIQEE
3) There is no significance of Aims in teaching of science

QFIEQ AIOYQIR Q 6AFER ARYA 6R16IE QI QI

4) No option is correct

6al6id 9ap A0 g6l

Correct Answer: 3) There is no significance of Aims in teaching of science
FRPQ AI0YQIR @ AR AR 62161 QI P18

Candidate Answer: 2) Aims need long term planning and some serious efforts on the part of the

teacher
Ay SRQ6 dl6a 2Ql Q1dgl£l1 GQQ@QI \Q° Hg gQoea deeqia JeLIRR! 6RIRe)Q 2IQ6lie

QID : 131 - Which nutrient is required in splitting of water to liberate oxygen during photosynthesis?

26AIRA°6EAE(T651A61E )Q AR AER FARFRR 2RERR ] AR 694! 6AITIR A PARIR 2N ?
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Options:

1) Magnesium
EaErE

2) Manganese
HIGRINIR

3) Zinc

o

4) Boron
6QIE

Correct Answer: 2) Manganese
CHISPIRTR

Candidate Answer: 1) Magnesium

B Techofworld.In

QID : 132 - Dialysis machines are based on which of the following principles?
QIIRINEA 6ASIRgER AR 696 100 AU6R §E @68?
Options:

1) Osmosis
aIgeél(aaeaida)

2) Conduction
JARRR(REAR)

3) Capillary Action

caee ed(@IdRR 21ge )
4) Temperature Difference
QIAAIQI AIEIRY

Correct Answer: 1) Osmosis
2IE(A96A1Ta)

Candidate Answer: 1) Osmosis
aIgeél(aaeaida)

QID : 133 - Which phenomenon is observed when a beam of sunlight passes through a colloid
solution?

gd B8 IR ERIEMINE 6 FIER D2 Gl6M 604 ASEIT 626! AN?

JoinUs-' > f



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Options:

1) Tyndall effect

eI gRUQ

2) Diffraction of Sunlight
gdieniea 890!

3) Dispersion of Sunlight
gda 2lemie Q AR
4) Refraction of Sunlight
gda 2ieRIea 9oa¢)

Correct Answer: 1) Tyndall effect
GEIm gRUQ

Candidate Answer: 2) Diffraction of Sunlight

- Techofworld.In

QID : 134 - Which of the following elements is bivalent that is, it has valency 3 and 5 both?

QREe QURIRGERA FIIER 6RGE FEER(QIRRIIRY), Y2IQ QUIEA°AT 3 9e° § QEKL?
Options:

1) Sulphur
admarel

2) Chlorine
69100

3) Phosphorous
133319819

4) Carbon
PR

Correct Answer: 3) Phosphorous
FATQ

Candidate Answer: 1) Sulphur
Admae

QID : 135 - Which of the following substance is an insulator?

A98 606 AQIFE 9@ URRIRe?
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Options:

1) Graphite
SIFIRE

2) Manganin
FlFIe

3) Nichrome
Pegle

4) Diamond
@1

Correct Answer: 4) Diamond
210U

Candidate Answer: 1) Graphite

Techofworld.In

QID : 136 - Which of the following organisms belong to the phylum echinodermata?

b

RO 6946 @19g RREAIRIFAGI ClIQEME?
Options:

1) Sea cucumber
Qo RIgd

2) Spider

Qa2Nen

3) Earthworm
@l

4) Lion fish

G (meae A1)

Correct Answer: 1) Sea cucumber
AR RIQe

Candidate Answer: 1) Sea cucumber
QAo RIge

QID : 137 - A person suffering from a refractive error of vision is recommended to use a concave lens
by the doctor to correct his vision. Identify the defect.

QY a6sIkIR 9F6Q 6RIGRR AR Q1GQ 618 QY A6EIRIR ARR! IR FIQA QIAl 2QOR 6AY QIRLIQ KA
aeiAel G2 AN 9FTQ 580 @ag)
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Options:

1) Hypermetropia
2aesacadzl

2) Presbyopia
699&@33G2I

3) Hypometropia
gediereadell

4) Myopia
QTG

Correct Answer: 1) Hypermetropia
2aasreadall

Candidate Answer: 1) Hypermetropia

Techofworld.In

QID : 138 - Which nutrient is required by thyroid gland to make thyroxine hormone?

2GR 2QEAIR G2UIR FAR! 2IRACAL TR FIRI 6966 JTI J6AURR?
Options:

1) Iron

el

2) Calcium
QIRTA
3) lodine
AIRE1R

4) Chlorine
6100

Correct Answer: 3) lodine
ARCR

Candidate Answer: 3) lodine
ARE1Q

QID : 139 - Which of the following elements is used as a catalyst in hydrogenation of vegetable oils?

QR 6ORYPAR LIRELIEREREIER PRGEYENA FAUER REIT 2QUCR BAIPER QIQQE @1?
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Options:

1) Sodium
Saflere!

2) Cobalt
6RIQIR

3) Iron
el

4) Nickel
feam

Correct Answer: 4) Nickel
oeam

Candidate Answer: 1) Sodium

Techofworld.In

QID : 140 - The reaction between Carboxylic acid and alcohol results into the formation of

RI6II6pNR 2T 9e° CRIERIARA FISQ I6FY CI0R6Q TRITR |

Options:

1) Aldehyde
2I6RRIRe
2) Ester
\(2(a)

3) Ketone
@6cIR

4) Halogen
YI6wI6 R

Correct Answer: 2) Ester
N

Candidate Answer: 1) Aldehyde
26RQ1R0

QID : 141 - In which muscular and skeletal disorder, inflation of joints occur due to accumulation of
Uric acid crystals?

6RE FIPEIEAEI IQ° RFIRA A1k, RAAR 24ITe FP Rl 62QIQ RIQFIQ FEAQYERR KRR ATelN ?
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Options:

1) Tetany

66610

2) Muscular Dystrophy
6Q61Q9R Q6RIAYQ JEa Qe
3) Osteoporosis
ageeaicauda

4) Gout

661l6

Correct Answer: 4) Gout
60llc

Candidate Answer: 2) Muscular Dystrophy
6Q61QER J62IAYQ I8 AR

Techofworld.In

light.

QID : 142 - Refractive Index of a glass is least for

R §9q ATIRE An6eq 2A6RARQ AL @ 621R2IN |

Options:

1) Red
fmllm

2) Violet
QURGIEN
3) Blue
@M@

4) Green
AR

Correct Answer: 1) Red
mliml

Candidate Answer: 2) Violet
QURGIEN

QID : 143 - Carbohydrates, proteins and fats metabolism are regulated by which hormone in human
body?

RIEAIQINGRE, 6TITA IQ° (IS 6AIGISRIRRA FAIRS 6026R 6R6 2Q6FIR GIal RAFE 997
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Options:

1) Insulin

Qghe

2) Thyroxine
2AREAIPR

3) Estrogen
REYERR

4) Adrenaline
Q9A(26LPNRR )

Correct Answer: 2) Thyroxine
2REAIFR

Candidate Answer: 4) Adrenaline

| Techofworld.In

QID : 144 - Which of the following is a mechanical contraceptive method to avoid pregnancy?
QOREe 6066 U@ AIPR CIRREANS A8E?
Options:

1) Abortion

a(ala[[a)

2) Contraceptive Pills
cIfeaIRIe Gla

3) Copper-T

@da-T

4) No option is correct
6aleld Aeg a0 Q6w

Correct Answer: 3) Copper-T
@da-T

Candidate Answer: 1) Abortion
QA

QID : 145-The pH of 0.1TM KOH is

0.1M KOH 9@ pH 626@ |
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Options:

1)8

2)9

3)10

4)13

Correct Answer: 4) 13

Candidate Answer: 3) 10

Techofworle

QID : 146 - Initial velocity of an object in a free fall is m/s.

R g W6@ 099l 9gR JI2iFie 696 6268 A/eal
Options:

1) 0.1
2) 1
3)0
4)938

Correct Answer: 3) 0

Candidate Answer: 4) 9.8

QID : 147 - Which organelle of a cell other than nucleus contains DNA?

PR Q4010 6RIAR 6RG! 2EREM IR 2IIN?
Options:

1) Vacuole

60210067 QI @l QAL PA(NFIER)
2) Lysosomes

miFealerisl

3) Mitochondria

AIRESIRAEL

4) Golgi apparatus

CIRG AQAIG

Correct Answer: 3) Mitochondria
AIRESINREA
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Candidate Answer: 3) Mitochondria
AIRESINREL

QID : 148 - Which of the following acid can be found in an ant's sting?
Jefea gg) 6a B¢ 6RQ 2106 AR a?
Options:

1) Methanoic Acid
6FRlIERIRR 2189

2) Citric Acid
ARG 2I9Q

3) Tartaric Acid

e Techofworld.ln

aAgRe 20Q

Correct Answer: 1) Methanoic Acid
6FlRlIERIPR 218Q

Candidate Answer: 4) Oxalic Acid
AgiRe ATQ

QID : 149 - Which law states that at constant temperature, the pressure of a fixed amount of gas
varies inversely with its volume?

6@ PAAG Q6N 64 Ta SIARIGI, e BTG AR SHIT6R F1d GIQ ARAFEA AIEPER FANIENIES AALEH 92
Options:

1) Charles's Law
ellalalaYalale

2) Boyle's Law

QEIMa P

3) Stefan Boltzmann Law
ATIR 6QIRRAIR HOF

4) Newton's Law

facra faa

Correct Answer: 2) Boyle's Law
Q6 P

Candidate Answer: 2) Boyle's Law
QEOMA PO
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QID : 150 - IUPAC name of first member of homologous series of Aldehydes is

2INGLIRERAR 62I6FI6AIRE Gaea g eaia IUPAC QIf 1

Options:

1) Ethanal

= Techofworld.li

EQREIENLING
3) Propanal
geaRIm

4) Methanal
641216l

Correct Answer: 4) Methanal
6F12lE

Candidate Answer: 1) Ethanal
1219
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